ggboob boooobbboi13020130 10 2800
gogo oo

0000000002/4001000004030000000000

p: X - XO00O0ODOOOO0OOOxz € X000~ : (1,d]) = (X,20) 0000000000
To, 71 €p(m), T £, 0000i=0,10000y00000%:7—X0O%0) =700
00000000

1) v'(t):=y(1-$)00000 a;: I - X0 ou(0)=%(1) 0000000
a;(t) =77 (t) =1 - t)
000000000

(2) %(1) #%(1)000000000000000000000000000

gbobbobooboobooboobooboobobbobooboobooboon

I Ar={(zr,z) e X x X} C X xXOOOOO (diagonal set) 0 000 X O Hausdorff 0 O O
O00DACXxXOUOOOOOOOOOoOoooooooXxX\AOOooooooooo
0 (z,y) e XxX\ADODOUDUCXxX\ADOOODOODOODOODODODOOOO

2.p: X - X00000O00O0zeU CcXOOOO (admissible) 000000000000
00 heG(X,p)0O0ODOOODOOO
(1) h(p~(x)) =p ' (z)0000 A, 0000000000000

(2) p(U)=U,V»,0 VA 0000000000000p)y,:Va—0UD000000000
07eV,0000AF) eV, 000 00000000000

(3) hly, :VA—1,000000000000000000
3.00y=sin(2r/z) (0<2<1)00000T000000000000+:7—R200
v(0) = (1,0) € T, (1) = (0,1), v(t) ¢ T (0 <t < 1) 000000000000 O0

YV =~y(I)CcR2O0D0DOX=TuYOR*OOD0DODO0O0O0O0ODOO0O0O0OO0OXOOOOOOO
000(,1)eX0000000O00O0O0ODOOOOOOOOO

0000000000000
4. wo = (0,0), wy = (2,0), we = (1,1) e R2OO OO

(1) KOOOO 100 |wows], jwiwsl|, jwewe| 00 00000000LO |wewy| 00000
00000000f:R?2 - R20 f(z,y) == (2,0)0000000f00000000
f:|K|>|L|0000f00000®0000 f=|¢|0000000000000

(2) fOOO0O00¢:K—-LO000000000000000O00OOOOOOOOOO



. bbuouooobbobuoooobbbuooobbbuooboooobbbuoooooboon

6. J000000000000000000000000000000000000 XOO
0O0m(X)00000

7. () T:=5'x5'0000m(7)00000
(2) z0:=(1,00€ S'0000S ' x{z)} 00000 7T0000000000000000
0 pOO0000O0O0O0OOOO0000000T :=TuDO0O00m(T)00000

8. K =K \UK,, Ko =K,NK,00OUOO van Kampen OO OO O00O0O0OK,O0ODOOOO
gbbbuogbobboooobbbouoodgn

(1) K:=5'0000000000K, :={(z,y) € 8" |y >0}, Ky = {(z,y) € S* | y < 0}
0000m(K) (i=1,2)00000

(2) 0000000000000000000000000000000000000K, =
{(+£1,0}00000000000000 m(Ky) ={1}0000 van Kampen 0 0 00
00000000 -(K)0O0OO0O000000000000000000000

0. 00 X,YOOOOm(XVY)2m(X)+m(Y)0ODOODOOODDOO0OO0O0O0 XvYOXOY
000000«0000000012/1000000401/700000 60000

10. (1) 00000 XO0O000id: X »X00000000000000
(2) m(S?)={1}0000
(3) m(S2vS$3)0O0000
(4) $2vS20000000000
1. (1) =
(2) S

(Stvsh)ooooo
Stvs?0000000000

00o0o0o00oo0l1/30000000000o0ooooon
http://math.shinshu-u.ac. jp/~ksakai/12_topology/12_topology.html



